I H -1 201845 H4 H (4 90) IR A /g - Bk fib
Hitias H30 FFgk i e Btk " -
e 2 Frisile Lt e (T BN Fask
ERlRili 4 HrE ke L e B4 g ik LS
BA | %R 147 2hr 3he a0z 5hr 6hL ThL 8hL
Sems T | 540 200m #]BAR KEQ) 2293 (-3.7)|KIE EQ) 23.83 (-3.7)| /Kl F(3) 24.09 (-3.7)|FEE EAK@Q) 2421 (-3.7)|HHN ERQ) 24.28 (-0.8)[/NEIE KE(2) 24.30 (-0.8)|FM HEZE(3) 2457 (-2.8)|BF A1(2) 2478 (-3.2)
P RER #i5-aiRds ER RN Al i N R FRAE iR - BHEP HR-REP Fim-wlR
sh4m | 400m £k BRQ) 52.95(F N BEHQ) 52.96(1L1JI1 E(3) 53.36(3L7E F3(3) 54.36[;E:& Z1(3) 54.44(1L10 #:HE(3) 5452| & EE() 55.11| T MF(3) 55.26
i Rl il - FinER R iR BHES R RmAELF R -MEHRS HR-EHT iR ER R RF T
saan | soom IR —F&®3) 2:05.00|F8EF MLE(3) 2:07.14|@F E—EBEQ) 2:11.83| KiF 18K (2) 2:15.39| TR BAR(E) 2:15.88|4E FWEO) 2:18.25| K% #F(2) 2:1847| KB ILA®) 2:19.12
i8R -aiRds iR R FEE =S wiR-@al$ RS R FRAE iR WEHHR bR R AL
sA4m | 1500m IR —F&®3) 4:15.29|FF &) 4:22.21|7&R FEXEQ) 4:2354|/ML —K(@3) 4:25.83|B8 ZFAEQ) 4:3369|7FE KZEQ) 4:36.74| KiE ILAQ) 4:37.15|@F E—EBG) 4:37.17
iR -aRdtsh R FRERR - EAP ;R ARE R BHAH iR Tl R HES R FERE—Sp
548 | 3000m R+ EZHER) 9:34.39)/ML — K@) 9:40.37(;&R FAK(@) 9:51.94|{£8%k E(2) 9:52.85[/RHE XZ(3) 9:54.96 (85K FLE(3) 9:57.82|#EH B A(2) 10:11.38| A<M E3(3) 10:12.27
iR PRERP - ARd - HHEP R RS iR Tl R FERE =S R FERE_—Sp HR-@AF
sa4p | 11omn iTim FZEQ) 16.12 (-1.5)| RIL K#(2) 16.21 (-1.5)| &8 £E®) 16.50 (-1.5)|E+)Il [52HQ?) 17.14 (-1.5)|[4£% K#2(3) 17.21 (-1.5)| &k EI#R(3) 17.54 (-1.5)[EEA {A(3) 17.56 (-0.3)| =5 Kih(2) 17.81 (-0.3)
ih-BEHH 8- R R R B iR Tl R AFH HR-@aAF iR PEERT R IR T
ik KA 4574|518 FRE = PA 46.56 | #e- HEPA 46.72|#FR B+ RSP 47.00(%R-ALLF 4710(FR-FRERP 47.40(F7iR - /EHRA 4751 |$iR- HEEH 47.81
[1T]m - 163} AR BEAB® B BEQ2) INBIE KE(2) FaER #2F(3) SH ZEIREG) FaER #RE(3) =5 B&/0Q
5HAH | 4x100mR | #Z2(3) R RzMNEG) A SFHEG) Fik X 1E#E 1BAQ) R X2 1TH EhE) 2 X2
A BAEG) &’#F RO X =0O) A+ BIRE2) 1k R=iKEQ) et 1&4(3) HiE RIAQ) FRE &
% FiEEG) fERK HEQ) JA H#2@3) AA ABRE3) O] BEMA {6(3) JKIE #(3) TN FE®3)
sHan | Ak BNl SLER(3) 173 =8 #®K@Q) 1.70(3RH* FEHEQ) 1.65|MH:2 E(@3) 1.60|:7% E@Q) 150(B8 FTth@) 1.45
R FRERS i EER R gEERS R gEERS iR LRF iR K
san | ke HA #HE3) 320(HE EREO) 2.80[/h ik BER() 2.70
iR AlF iR mHFRR iR mEFRT
shan | e KAR BEA®) 6.05 (+1.9)[fRIE K}(Q3) w5.98 (+2.9)|;ATA #A(3) w5.91 (+4.D|#1L HKEG) w5.84 (+3.9)[iRJII THiF@M) w5.62 (+2.6)| 4 MA(3) w5.53 (+3.8)| L H JRE(®3) w5.48 (+3.3)| T BER() w5.47 (+3.6)
ia- ST i BT wiR EHAH iR B iR NEF iR BARET iR FEE—F iR FEE—
saan | A R4%G) 12,60 KB #1iK(3) 10.66| A& #7(2) 10.08|FTER 412H(3) 9.77|FE EE@3) 951|552 BAER(3) 9.06(3E &) 9.04|iEME ERHH3) 8.97
iR KPP i RiFH k- EERE () #iR- Tl ;iR FEE—h R BmEPEE) iR FiBHIE R iR FEE—F
sHan | s k& $E@3) 2145|#k REQ) 799
- AlSR iR FRE P
548 | 110mH 16.91 (-1.0) 23.13 (-1.0)
5H4H | fafu 10.24 5.76
5H4H | Ambk 1.65 1.20
540 [ 400m 57.38 1:06.00
sty | sgan | 100m AH K 12.26 (-3.3)| 2 K2 12.30 (-2.6)| R KHE(2) 12.31 (-2.6)| Rl K#(2) 12.35 (-3.3)|BF H1(2) 12.36 (-2.6)| 2% HZ%(2) 12.38 (-3.3)|HFE (2 12.60 (-2.6)|iE8 HE(2) 12,62 (-3.3)
il LR iR AEH iR T bRt iRl iR KFEH iR ERER - HAP
AR KHE®G) 11.54 (-5.7)|Kix $0(3) 11.97 (-5.7)|Ki§ +E(3) 11.99 (-5.7)| 44 #K(3) 1200 (-5.D|#ER K #BE(3) 12,06 (-1.3)|[8 RZAN@3) 12.08 (-1.D|IF FHE@G) 12.14 (-1.3)
sean | 5948 | 100m TS - IRE R ks iR ARt s BFTR R FEE=p R FEE=p #-HAP
RH# RO 12.14 (-2.6)
R FERE =P

w (wind assist) : JBEZ#




WA R 201845 H4 H (4 90) IR A /g - Bk fib
ey H30 FZHE i i e EstH o — —
e 2 Frig ik B e (T BN Fask
ERlRili 4 HrE ke L e B4 g ik LS
BA | %R 142 2L 3fL a0z 5hr 6hL The 8hL
et | smam | 200m Kig BABES) 2730 (-1.3)| Bk BREQ) 2803 (-1.3)|&#E V() 2807 (-1.3)| &M 1EES) 2809 (-2.1)|#7 BHR2) 28.19 (-1.8)| LAt HE®Q) 2831 (-1.3)| R 9@ 28.39 (-2.1)|EH H2) 28.79 (-35)
RN ks R ERER iR - RATEP #Hin- @A s Nt iR PEERF iR NEHHR - AP
saan | soom ERE RFI2) 2:29.92|FEA #4(3) 2:30.54|BE8F #EQ) 2:30.63|LH EXK?2) 2:31.42| K2 WE®O) 2:31.79|RAK BIEEQ) 2:32.08|HK £I&(Q2) 2:32.39|ILEA #E85(3) 2:32.56
iR B+ AT R mEHRER) iR R - AmRitP iR RS PRt iR INARR FB-AtEG
sA4m | 1500m RE BEO) 5:07.60|ILMA #585(3) 5:10.60|{£8% BE=() 5:14.69| M K2 5:14.92| K2 W) 5:15.87|hfE Q) 5:16.77|1&#% EFF2) 5:17.05|BE% ##E @) 5:17.26
8- RIHFHP R A+ER iR R iR FiRAIER R iR RS E R RN s i AR PRt
540 | 100mu FRK KEEEO) 15.12 (-2.2)| 21§ EBX(3) 15.90 (-2.2)|1&# HF3) 16.01 (-2.2)| B/ K #5Z@3) 16.20 (-2.2)| Nk B3(3) 16.25 (-2.2)| &k £%(2) 16.75 (-0.3)| HHE BAK(2) 16.81 (-0.8)|/h i EZ(3) 16.90 (-2.2)
iR FRIEH iR BERHH g FLF i MR i ERE i BEP iR PEE—h iR PEE—h
ik N PA 52.50 %7 - R FERPA 54.01(#7iR- KRZHA 54.11|#& HHAH 54.19| %78 FILF 54.23 (¥R - FIREZHA 54.33|FB-EHEP 5442|305 -EEP 55.15
#hH mEQ2) BwK BRO) EHH EQ) B &) FH EXQ il ThE@Q) &% A i £BaEQ
541 | 4x100mR |/ K $523(3) NE BEREG) fEE X#2) AR HFN) INE EBFQ) BB REQ) EE EREQ) Tk pEQ)
XiE BEQ KF* Q) HE EEQ) BH BERXQ IR BFEREG) E K#BEG) £H BEEG) %% £H5E0)
K& BHE®Q) BEIE HEQ) Ri§ EH0) EH KEQ) £ BFEO) AR BABE0) R EXEQ) = HHY(Q)
saan | =k E+E BWAQ) 149|218 ZERX(3) 1.46[KkFH &E@Q) 1.35( Mk &< EQ) 1.35[55EK #HQ) 1.30(F1L HE@2) 1.30|Z EEROQ) 1.30|% A EZX@Q) 1.30
iR FRERP iR BREHH =&-Hmf wiR BRHH iR BRHH =&-HEmf iR FEE— b iR FEE_h
shan | ke L EEQ 240|EH %KFiG) 2.30
- RKFRB PR bk
shan | e 2% KXEQ 517 (+0.8)|/M#k &E(3) w4.88 (+4.0)|ZEE ER(3) w71 (+2.3)| R ER(@3) 457 (+1.1)|4kfE XBQ) wa 4T (+2.2)|08E FOEEQ) 442 (F1.8)[/MII EFQ2) 441 (+0.4)[NLL HEFE2) 4.32 (+1.3)
#-HHP il Fd ik EilE iR NEF iR INFR iR IR iR NEF iR K
saan | mge EE U0) 10.95(4 #8%(2) 10133 FH EEQ) 9.63|EEF FIfEQ) 9.25|KM <+ (3) 9.13| % WXR®) 8.67|iFL MHWXK(EQ) 817[HE EB©2) 8.01
R E+ES R BRE—+ ik ;iR FEE—h iR FRS iR RSP iR K R EHT
shan | mmmgss TE [F0NEA) 2750| A EEQ) 2441| K% BEQ) 2254| 3R HTHEQ) 2202(E# £FQ) 1648|418 #EX(2) 1606|/NS EE(2) 1596 |5 /R  XIK(Q) 1202
BHIRALAC BHIRALAC BHIRALAC BHIRAGAC i MEH ;iR -BARE—F iR HEERT iR ARG
5H4H | 100mH 14.77 (-1.3) 15.57 (-3.0) 16.06 (-1.3) 16.29 (-1.3) 18.36 (-1.3) 20.39 (-3.0) 19.70 (-3.0) 20.92 (-3.0)
5H4H | Ak 1.55 1.55 1.46 1.40 1.30 1.30 1.35 1.25
5HAR | Fatuf 9.91 8.44 8.60 8.55 7.71 9.47 7.79 7.37
5440 | 200m w 27.44 (+2.8) w 28.83 (+2.8) 29.30 (-1.3) 28.71 (-1.3) w 31.13 (+2.8) w 30.75 (+2.8) 30.89 (-1.3) w 33.73 (+2.8)
sty | sgan | 100m #A BEQ2) 13.63 (-2.0)|#% &H(2) 13.66 (-2.0)|HME BA5k(2) 13.69 (-2.0)|E FEif(2) 13.79 (+0.7)| K& #EQ2) 13.81 (-2.0)| Bl EF(2) 13.89 (+0.7)|FEE WE(2) 13.97 (+0.7|F|IL F(2) 14.08 (-2.0)
R s R ks iR PEE—F #-HAP iR IR iR BEHR iR EER iR - NEHHR
TR BEEQ) 1312 (+1.3)|/ME HF3) 13.37 (+1.3)| K48 A HE(3) 13.53 (-0.3)| & UV7(3) 13.58 (+1.3)|BkilE HE(3) 1359 (+1.3)|F1R £Z Q) 13.67 (+1.3) /R #HEREG) 13.68 (+1.3)
siaser | 548 | 100m ;8- FBIEH i TP ER RN iR BAAET iR R iR EiAR iRt
B £KEQ) 13.67 (-0.3)
#-HEAP

w (wind assist) : JBEZ#5




